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:NR 90;SBR1502 10;
45; 20.5.
NR SBR @160
U CAN
(Too), GB/T2942 91 25t
, 16h . .
1.4 H
GB /T2942 91, AG 1
, 100 =
5 /min, 10 , .
1.5 (SEM)
S 550 .
2
.1
( )
. H 1 3
1 /
H /(N em!)
/ /W
min 50 75 100 125 150
0 71 71 71 71 71
0.5 95.5 103.0 102.0 91.0 112.2
1.0 96. 4 102. 8 102.0 97.0 113.5
2.0 96.8 103.0 101.0 107.0 113.6
3.0 97.2 103. 1 99.4 107.7 114.5
4.0 102. 1 105.5 103.6 108.0 114.2
5.0 109.0 113.0 119.0 110.0 114. 4
6.0 104.0 104. 8 113.0 108.7 120. 1
7.0 103.0 104. 2 106. 1 108.0 119.1
8.0 102. 8 105. 1 104. 8 104.0 114.0
9.0 101.9 105. 1 102. 4 99.0 110. 8
1 1 , s
b H b
H )
. 1 )
s H , H

TIN -

120. IN - em'. H

T’E 110 '/—"Ji'\v*v
o 1054 1 'y oo **-‘g'
> 100d | \/ A~ ~
z ' A/ v
E 954 :/-?J'—.
H 0 SEERTLENE
£ sl —e—50W, —e— 75W
T w0 —a—100W, —v—125W
= - -150W
70
65 T T T T T 1
0 2 [ 8
AL FEEF [B]/min
1 ( )

-C=0+0H~NH:~NH ’

- COOH.

~ b
2.2
RFL , s
2
H /(N- em!')
/ /W
min 50 75 100 125 150
0 71 71 71 71 71
0.5 154.9 168. 4 144. 1 142. 1 132.6
1 152.7 167.6 150 146.7 136.4
2 151.5 168.5 157 152.8 146.3
3 154.6 166.9 162.6 155 157.3
4 172. 1 175.7 167.5 157.3 172.4
5 232.2 198. 1 172.2 158.2  194.5
6 166. 4 169. 2 176 160 170. 8
7 146 159.6 167 165 162.2
8 144. 4 160 164 163.8 156.2
9 146.3 159 164 159.8 154.3
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